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1 2 3 4 5 6 7 8
b} s H % EBFlT kLK i i 5 BT 5 11 WA AT R AREF ALY U wthiliR iR A ] v e iy JrERU iR
A v v a & 5 0-20 T—13 R—17 0-13 1—14 K—17 -22 F—19
kil o B B i i R i i R i i R i i R i i R i i R i i R i i R
W # x 4 BMom W & BMom W & Mom oW & BMom W & BMom W & BMom W & Mom oW & BMom oW &
Eial PN A 4 Fis al 4 Fis al 4 Fis al I3 Fis al 4 Fis al 4 Fis al ~ LZ] ~ LZ]
D L = 5 ZETE K ZOfh ERCYIES ZOfh ZETE K Z0fh AR K ERCYIES
ot JE oo 5m S ] S ] 240m Im 3m 5m S ]
23 ks F A H FRR23EILA 21 R FRR23EILA 21 R FRR23EILA 21 R FRR23EILA 21 R FRR234E11A 22 R FRR23EILA 24 F FRR23EILA 24 F FRR23EILA 24
ES i 18.0 15.0 1.7 18.0 12.7 14.1 17.2 16.2
% i) 4 > 30 > 30 > 30 > 30 > 30 > 30 > 30 > 30
p H 6.6 6.1 6.6 8.2 5.9 6.6 7.2 6.4
R EE S (mS/m) 27.3 6.9 17.2 18.7 6.2 13.5 2.1 23.1
7 LN YA (mg/L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
& v 7 v (mg/ L) \D ND ND ND ND ND ND ND
i (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
7 = A (K i) (ng/ L) < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02
3 ES (mg/1.) < 0.005 < 0.005 0.008 0.007 < 0.005 < 0.005 0.006 < 0.005
i ES # (mg/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
Toor % o ok 4 (ng/ L) ND ND ND ND ND ND ND ND
KU KLY 7= =1 (mL) ND ND ND ND ND ND ND ND
Y o/ owmom A oF o (mg/1.) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
[ S (A S (mg/L) <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
Wk v = E /) v — (m/L) <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 < 0.0002
b L2 Y 7 v ow = % v (/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
LI-Y 7 m-mBexF Ly @ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L2-Y 7 mExF L (m/L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLl- kY 7 wmwwxsr (mg/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2- h Y 7 mwwxsr (g/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0008
E| PV 7 mE=TF Ly L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
F b7/ mrxF Ly (g/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
L3-Y 7 re 7 Rr <Yy (g L) <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
F v 7 I (mg/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
v ~ v v (mg/L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FoA N v H AT (mg/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
H ~ v k4 v (mg/ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
* v v (mg/1.) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MR E AL CEMMEEHR (L) 2.4 1.0 1.5 0.03 0.51 2.3 5.8 1.5
5 - # (mg./ L) 0.27 <0.08 0.13 3.3 < 0.08 0.08 0.26 0.15
£ 5 # (mg/ 1) 0.07 <0.03 <0.03 0.05 <0.03 <0.03 0.19 <0.03
L= ¥ 4 x ¥ v (mg,/ 1) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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# i H % i 1 it A T i iR | T 4 e H LT EIFR SRAET /N Hr i FLRE T I FLRETE ESGIEEES VS S LR SR AT BIEPHT T
# v v a & 5 G—22 H—14 E—06 F—19 0-07 1-08 1-10 T—05 N—12 S—07 M—04
kil o B B i i R i i R i i R i i R i i R i i R i i R i i R i i R i i R i i R
W # x 4 BMom W & BMom W & Mom oW & BMom W & BMom W & BMom W & Mom oW & BMom oW & BMom W & Mom oW & BMom oW &
Eial PN A 4 Fis al I3 EiS l 4 Fis al ~ LZ] 4 Fis al 4 Fis al I3 Fis al ~ LZ] 4 Fis al ~ LZ] ~ LZ]
2} L = 5 ZETE K EREYIES ERCYIES EREYIES ZOfh Z0fh — xR ERCYIES ZOfh ERCYRS ERCYIES
fioe JF o RS 8n KD L} 10~20m ED /] 2n 9n 96m ED /] 10m ED /] 10m
# hid 4G A A P23 11 24 H P23 11 22/ P23l 22/ P23 11 24 B P23 25 H Pk234E11H 25 H k23411 25 H P23 25 H Pk234E11H 25 H k2311 A 21 F Pk234E11H 25 H
ES i 16.7 16.8 14.5 16.5 12.6 13.4 1.3 10.2 18.3 1.8 1.2
% ) )i 4 > 30 > 30 > 30 > 30 > 30 > 30 > 30 > 30 > 30 > 30 > 30
p H 6.5 6.4 6.0 6.3 6.3 6.0 8.2 6.4 6.3 6.7 6.2
R EE S (mS/m) 37.8 1.8 8.3 21.7 5.3 18.0 25.4 4.9 19.6 1.7 7.6
7 LN YA (mg/1.) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 <0.0003 < 0.0003 < 0.0003
4 v 7 v (mg/ L) ND ND ND ND ND ND ND ND ND ND ND
# (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
7 = A (K i) (ng/ L) < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 <0.02 < 0.02 < 0.02
3 # (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
i ES # (mg/1.) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
Toor % o ok 4 (ng/ L) ND ND ND ND ND ND ND ND ND ND ND
KU KLY 7= =1 (mL) ND ND ND ND ND ND ND ND ND ND ND
Y o/ owmom A oF o (mg/1.) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
[ S (A S (mg/1.) <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
Wk v = E /) v — (m/L) <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 < 0.0002 <0.0002 <0.0002 <0.0002
b L2 Y 7 v ow = % v (/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 <0.0004 <0.0004 < 0.0004
LI-Y 7 rexF Ly (g L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L-Y 7 mrexF Ly (g L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLl- kY 7 wmwwxsr (mg/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2- h Y 7 mwwxsr (g/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0008 < 0.0006 < 0.0006 < 0.0006
E| PV 7 mE=TF Ly L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
F b7/ mrxF Ly (g/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
L3-Y 7 re 7 Rr <Yy (g L) <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
¥ v 7 I (mg/1.) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
v ~ v v (mg/1.) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 <0.0003 < 0.0003 < 0.0003
FoA N v H AT (mg/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
H ~ v k4 v (mg/1.) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
* v v (mg/1.) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MR E AL CEMMEEHR (L) 13 2.0 1.7 6.7 1.0 5.9 < 0.03 0.72 1.3 2.6 0.85
5 - # (mg./ L) 0.51 0.22 < 0.08 0.25 < 0.08 < 0.08 2.1 0.19 0.09 <0.08 < 0.08
£ 5 # (mg/ 1) 0.12 <0.03 <0.03 <0.03 <0.03 0.03 0.58 <0.03 <0.03 <0.03 <0.03
L= ¥ 4 x ¥ v (mg,/ 1) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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MR A
* 7 20 21 22 23 24
# s H % [GIIGE e AR [GIIGE e AR ] L i e R 5 frfktigir [ Ly 77 AL X S BT 5
# v v a & 5 P—18 P-18 N—17 J-19 M—14
kil o e B % % . % i) 1 i
W # x 4 BMom W & BMom W & Mom oW & BMom W & Bowm W &
Eial PN A I3 Fis al 4 Fis al I3 Fis l 4 Fis al 4 Fis al
D L = 5 ZOfh ZOfh Z0fh ZOfh ZETE K
fioe JF o RS 100m 30m 100m 9. 0m Tm
" g kS A H SERR234E8 H 2 H SERR234E8 H 2 H SERR234E8 H 2 H SERR234E8 H 2 H SERR234E12H 12 H
ES i 21.8 21.0 20.0 25.3 19.1
b # 4 - - - - > 30
p H 6.5 1.8 8.3 7.5 6.2
R EE S (mS/m) 1650. 0 1840 14.4 17.5 21.0
7 k 2 YA (mg/L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.0003
ES v 7 v (mg/L) ND ND ND ND ND
f (mg/L) 0.012 0.042 0.008 < 0.005 < 0.005
o omo A (A i) (mg/L) < 0.02 < 0.02 < 0.02 < 0.02 < 0.02
3 # (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
i #® ES # (mg/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
VAR . R A (mg./ L) ND ND ND ND ND
KU KLY 7= =1 (mL) ND ND ND ND ND
Y o/ owmom A oF o (mg/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
[ S (A S (mg/L) <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
Wk v = E /) v — (m/L) <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
b L2 Y 7 v ow = % v (/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
LI-Y 7 m-mBexF Ly @ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L2-Y 7 mExF L (m/L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLl- kY 7 wmwwxsr (mg/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2- h Y 7 mwwxsr (g/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
E| PV 7 mE=TF Ly L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FErZ7/smue=F Ly (/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
L3-Y 7 re 7 Rr <Yy (g L) <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
F v 7 I (mg/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
v ~ v v (mg/L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FoA N v H AT (mg/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
H ~ v k4 v (mg/ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
* v v (mg/ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MR E AL CEMMEEHR (L) < 0.03 0.03 < 0.03 1.3 1.7
5 - # (mg/ L) - - 0.12 0.10 0.12
£ ) # (mg/ L) - - < 0.03 < 0.03 < 0.03
L= ¥ 4 x ¥ v (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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5 25 26 27 28 29 30 31 32
b} s H % Lt B A |GIE R (ENEE=S i Lt b DX i 0 st R [ L1 77 S X iy B [ L1 v R P i B ET) 1152 B WY P2 i AR ER LR
A v v a & 5 N—14 M—16 M—18 P—18 P—19 I-18 1-20 1-21
kil o e B i) 1 i i) 1 i i) 1 i i) 1 i i) 1 i - SR 1) - SR 1) - SR 1)
W # x 4 BMom W & BMom W & Mom oW & BMom W & BMom W & BMom W & Mom oW & BMom oW &
Eial PN A 4 Fis = & Fis al 4 Fis al % Fis al 4 Fis al ~ LZ] ~ LZ] ~ LZ]
D L = 5 ZETE K EREYIES ERCYIES EREYIES ZETE K — xR — xR ERCYIES
it FF o’ S KD /] 5m 4m 3n 3n KD L} KD L} #95m
23 ks F A H FRk234E12H 12R FRk234E12H 12R FRk234E12H 12R FRk234E12H 12R FRk234E12H 12R FRR23EILA 21 R FRR23EILA 21 R FRR23EILA 21 R
ES i 12.0 16.8 19.0 15.2 13.0 17.8 18.4 17.3
% i) 4 > 30 > 30 > 30 > 30 > 30 - - -
p H 6.5 6.6 6.5 6.5 6.5 6.3 6.8 6.9
R EE S (mS/m) 20.8 22.8 39.4 19.2 35.8 32.0 36.0 35.0
7 LN YA (mg/L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
& v 7 v (mg/ L) \D ND ND ND ND ND ND ND
i (ng/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
7w on (A i) (ng/ L) <0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02 < 0.02
3 # (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
i ES # (mg/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
Toor % o ok 4 (ng/ L) ND ND ND ND ND ND ND ND
KU KLY 7= =1 (mL) ND ND ND ND ND ND ND ND
Y o/ owmom A oF o (mg/1.) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
[ S (A S (mg/L) < 0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002
Wk v = E /) v — (m/L) < 0.0002 < 0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 < 0.0002
b L2 Y 7 v ow = % v (/L) < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004 < 0.0004
LI-Y 7 m-mBexF Ly @ L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
L2-Y 7 mExF L (m/L) < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004 < 0.004
LLl- kY 7 wmwwxsr (mg/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
LL2- h Y 7 mwwxsr (g/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0008
E| PV 7 mE=TF Ly L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
FErZ7/smue=F Ly (/L) < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005 < 0.0005
L3-Y 7 re 7 Rr <Yy (g L) <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 <0.0002 < 0.0002
F v 7 I (mg/L) < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006 < 0.0006
v ~ v v (mg/L) < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003 < 0.0003
FoA N v H AT (mg/L) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
H ~ v k4 v (ng/ L) < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001 < 0.001
* v v (mg/1.) < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002 < 0.002
MR E AL CEMMEEHR (L) 15 0.72 < 0.03 2.3 9.6 9.6 17 2.4
5 - # (mg./ L) 0.08 0.24 0.38 0.42 0.37 0.08 0.18 0.33
£ 5 # (mg./ L) <0.03 <0.03 0.12 <0.03 0.07 0.04 0.12 0.15
L= ¥ 4 x ¥ v (mg/ L) < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005 < 0.005
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b} s H = % frtikic i i R 5 b
A v v = & £ J-19 J—20 H-20
kil o e B - SR 1) - SR 1) oo
kil o X 5 BMom W & BMom W & Mom oW &
Eial R o B Ok 4 Fis al ~ LZ] ~ LZ]
D L = 5 ZETE K EREYIES Z0fh
fif ot FF o’ S #10m ES U} ER U}
23 ks F A H FRR23EILA 21 R FRR23EILA 21 R FRR23EILA 21 R
IS i 17.3 17.4 16.0
& ) )i 4 - - -
p H 6.8 7.5 6.5
R EE S (mS/m) 35.0 60.0 20.0
7 LN voA (mg/1.) < 0.0003 < 0.0003 < 0.0003
ES v 7 v (mg/ L) ND ND ND
f (mg/1.) < 0.005 < 0.005 < 0.005
o omo A (A i) (mg/1.) < 0.02 < 0.02 < 0.02
3 ES (mg/1.) < 0.005 < 0.005 < 0.005
i ES # (mg/1.) < 0.0005 < 0.0005 < 0.0005
VAR . R A (mg./ L) ND ND ND
KU ke 7= =1 (mg/ L) ND ND ND
Y o/ owmom A oF o (mg/1.) < 0.002 < 0.002 < 0.002
moos e R & (mg/ L) < 0.0002 < 0.0002 < 0.0002
Wk v = E /) v — (m/L) <0.0002 <0.0002 <0.0002
b L2- ¥ 7 wow = 4 v (g/L) < 0.0004 < 0.0004 < 0.0004
LI-Y 7 m-mBexF Ly @ L) < 0.002 < 0.002 < 0.002
L2-Y 7 mExF L (m/L) < 0.004 < 0.004 < 0.004
LLl- kY 7 wmwwxsr (mg/L) < 0.0005 < 0.0005 < 0.0005
LL2- h Y 7 mwwxsr (g/L) < 0.0006 < 0.0006 < 0.0006
gl PV zmm=F v L) < 0.002 < 0.002 < 0.002
FF7 27 mwexF Ly g L) < 0.0005 < 0.0005 < 0.0005
L3-Y 7 re 7 Rr <Yy (g L) <0.0002 <0.0002 <0.0002
¥ v 7 I (mg/1.) < 0.0006 < 0.0006 < 0.0006
v ~ v v (mg/1.) < 0.0003 < 0.0003 < 0.0003
FoA N v H AT (mg/L) < 0.002 < 0.002 < 0.002
H ~ v k4 v (mg/ L) < 0.001 < 0.001 < 0.001
* v v (mg/ L) < 0.002 < 0.002 < 0.002
MR E AL CEMMEEHR (L) 0.11 0.03 1.3
EN - # (mg/ L) 0.13 0.33 0.10
£ ) # (mg/ L) 0.04 0.38 < 0.03
L= ¥ 4 x ¥ v (mg,/ 1) < 0.005 < 0.005 < 0.005
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il E i R Ed T T BRI ET B Fh I i AT i L e R i L7t A X 87 T Lt AL K4 ) i 1L v g X i L7t A 3 Bt R R B it T Bt Ry
# v v = &5 F—15 D-19 N-17 M-18 L—17 L-19 L—17 L-22 1-19 K—19 1-20
ECl 7 % ] i ) I i 1 U EE - i ih i i ih i i ih i i ih i # #oih # #oih # #oih # #oih
Eil ke £ 5 bl B AL A2 bl B A A2 AR AR kR kAR A kR AR kR AR kR kAR A AR A kR A

Fival EiN NI 2 w7 w7 w I F w I F w I F w I F w I F w I F S 7] w I F S 7]

2] # M OB M ESCEEN A 98 K Z0fh TEMA A& K A& K ZDflh A& A A& A A& A A& A

T FFoRE 5m £ ] 30m 1im AR 4m S L] 3m K L] 16 K L]

23 13 ks A ] Fpk23E6 1 2 1 FH23FELLA2A FHR23E6A 2 PH23FELLA2A P23 A 2 FHR24E2A 6 FHR2AE2A 6 FHR24E2A 6 FHR24E2A 6 PH2AFLA 11 A PH2AFELA 1R 242210 FH2FELA L
ES iR 17.9 20. 1 17.9 19.0 19.4 8.0 1.4 13.6 15.2 15.1 16.8 17.9 13.3
& fi) 4 > 30 > 30 > 30 > 30 - - - - - - - - -
p H 6.5 6.5 6.7 6.5 6.8 - - - - 6.6 6.8 8.2 7.7
TR EHEE (mS/m) 33.4 33.6 24.3 24.3 29.7 - - - - 22.0 30.0 92.0 8.0
T (Y B - - - - < 0.001 - - - - - - - -
ES v 7 v (ng/ L) - - - - ND - - - - - - - -
# (mg/ L) - - - - 0.005 - - - - - - - -
7 oom o A (R i) (ng/ L) - - - - < 0.02 - - - - - - - -
3 ES (mg/ L) - - - - 0.009 0.034 - - - - - 0.008 -
fit # ES E (mg/ L) - - - - < 0.0005 - - - - - - - -
PR 2 S 3 (mg,/ L) - - - - ND - - - - - - - -
FK YU Ly 7= =21 ML) - - - - ND - - - - - - - -
Y s omom X ¥ v (/L) <0002 <0002 - - <0002 - - - - < 0.002 < 0.002 - < 0.002
[LE S I (mg/ L) < 0.0002 < 0.0002 - - < 0.0002 - - - - < 0.0002 <0.0002 - < 0.0002
Wik =4 E /v — (mg/L) < 0.0002 < 0.0002 < 0.0002 < 0.0002 < 0.0002 - - - - - - - -

L L2 - Y27 mu=y >y (mg/L) < 0.0004 < 0.0004 - - < 0.0004 - - - - <0.0004 < 0.0004 - <0.0004
Li—-YZ7mmrxFLy /L) <0002 <0002 - - <0002 - - - - < 0.002 < 0.002 - 0.007
L2—YZsmmITF LY (g L) 0.004 0.029 0.008 0.008 < 0,001 - - - - 0.005 < 0.004 - 0.029
LLl—hUzeR=sr (/L) < 0.0005 < 0.0005 - - < 0.0005 - - - - < 0.0005 < 0.0005 - < 0.0005
LL2—hVUZmBREY Y (g/L) < 0.0006 < 0.0006 - - < 0.0006 - - - - < 0.0006 < 0.0006 - < 0.0006

5 FU 27 wmwr=F Ly (g L) 0. 003 0. 008 0. 046 0. 049 < 0.002 - - - - 0. 003 < 0.002 - 0. 004
FhE37mur=F Ly mg/L) < 0.0005 < 0.0005 - - < 0.0005 - - - - 0.099 0.0053 - 0.0053
L3—YZsmmsasy L) < 0.0002 < 0.0002 - - < 0.0002 - - - - < 0.0002 < 0.0002 - < 0.0002

ks v 7 A (mg/ L) - - - - < 0.0006 - - - - - - - -
v o= B4 v (ng/ L) - - - - < 0.0003 - - - - - - - -
F oA Ny B AT (mg/L) - - - - < 0.002 - - - - - - - -
H ~ v ¥ v (mg/ L) < 0.001 < 0.001 - - < 0.001 - - - - < 0.001 < 0.001 - < 0.001
* v P (mg/ L) - - - - < 0.002 - - - - - - - -
Y REPEE R R O R R EHE (ng/ L) - - - = < 0.03 = 11 10 - - - - -
5 - # (mg/ L) - - - - 0.15 - 12 - 0.86 - - L6 -
£ ) # (mg/ L) - - - - < 0.03 - - - - - - - -
L — ¥V 4 % ¥ v (mg/L) - - - - < 0.005 - - - - - - - -




& 5 19
bl E Hi P i HESUE HEIPHT DT
A v v a * = I—14 M—04
[ # e [T W R
£l = [ES oW W & mowm W &
Fival P oo B ok ® O OH ES ]
2] # M B # AETE K AETE K
i T o ®EES (m) Im 10m
23 i3 & A Epk236E11H 22 H SFER234FE11 A 25 H
7K 12.7 11.2
& # > 30 > 30
p H 5.9 6.2
ER R HEE (mS/m) 6.2 7.6
7 == R Y A (mg/ L) < 0.0006 < 0.0006
®w L2 Y 7 mr 7o sy (mg/L) < 0.006 < 0.006
p- Y 7/ mu v ¥y (mgL) <0.02 < 0.02
4 v x ¥ F A v (mg/ L) < 0.0008 < 0.0008
g 4 T ¥ ) v (mg/ L) < 0.0005 < 0.0005
|l 7 = = b m F oF v (mg/ L) < 0.0003 < 0.0003
4 Y 7 om F A4 7 v (mg/ L) < 0.004 < 0.004
E | (mg/ L) < 0.004 < 0.004
7 m o m ¥ v = N (mg/ L) < 0.004 < 0.004
# 7 = ¥ ¥ I K (mg/ L) < 0.0008 < 0.0008
E P N (mg,/ L) < 0.0006 < 0.0006
DA - T P S (mg,/ L) < 0.001 < 0.001
7 = J 7 B N 7 (mg,/ L) < 0.002 < 0.002
H| 4 7 m N r K A (mg/ L) < 0.0008 < 0.0008
/7 m LV = kB 7 x v (mg/ L) - -
b v ES M (mg/ L) < 0.06 <0.06
E3 v v v (mg/ L) < 0.04 < 0.04
Hl72r@YxFLr~F% | (mg/L) < 0.006 < 0.006
= v r V2 (mg/ L) - -
€ U 7 7 v (mg/ L) <0.01 < 0.01
7 > b LS v (mg/ L) < 0.0005 < 0.0005
=€ s ma b FUY¥| mL) < 0.0001 < 0.0001
S v P/ (mg/ L) < 0.02 <0.02
4 7 > (mg/ L) < 0.0002 < 0.0002
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